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efveoxMe : (i) meYeer ØeMve DeefveJeeÙe& nQ~

All questions are compulsory.

(ii) ØeMve ›eâceebkeâ 1 oes KeC[eW ceW efJeYeeefpele nw, efpemeceW kegâue 10 Debkeâ nQ~

Question No. 1 is divided into two sections. It contains 10 marks.

(iii) ØeMve-he$e ceW kegâue 19 ØeMve nQ~

Total number of questions in this question paper is 19.

(iv) ØeMve ›eâceebkeâ 11 mes 19 lekeâ Deebleefjkeâ efJekeâuhe efoS ieS nQ~

Question Nos. 11 to 19 have internal choices.

(KeC[-De)

(Section-A)

ØeMve—1. mener efJekeâuhe Ûegvekeâj Deheveer Gòej-hegefmlekeâe ceW efueefKeS : 1×5=5

Choose the correct alternatives and write in your answer sheet :
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(i) Dees.Sme.DeeF&. cee@[ue keâe Thejer mlej nw :

(De) ShueerkesâMeve

(ye) efHeâefpekeâue

(me) ØespeWšsMeve

(o) mesMeve

The outer layer of OSI model is :

(a) Application

(b) Physical

(c) Presentation

(d) Session

(ii) Jesyehespe keâes osKeves kesâ efueS GheÙeesie nesiee :

(De) Jesye efmejerpe

(ye) Jesye meeFš

(me) Jesye yeÇeGpej

(o) Jesye meJe&j

To see the web page, we use :

(a) Web Series

(b) Web Site

(c) Web Browser

(d) Web Server
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(iii) Œeer Ùee heg®<e efJekeâuhe Øeoeve keâjves kesâ efueS GheÙegòeâ kebâšêsue nesiee :

(De) Ûeskeâ yee@keäme

(ye) Dee@hMeve yešve

(me) šskeämš  yee@keäme

(o) uesyeue

Suitable control to select male or female option is :

(a) Check Box

(b) Option Button

(c) Text Box

(d) Label

(iv) Jeie&cetue %eele keâjves kesâ efueS JÙebpekeâ (HebâkeäMeve) nw :

(De) LOG ( )

(ye) ROUND ( )

(me) INT ( )

(o) SQRT ( )

The function to get square root is :

(a) LOG ( )

(b) ROUND ( )

(c) INT ( )

(d) SQRT ( )

(3)
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(v) Heâe@keämeØees Øees«eece keâes ef›eâÙeeefvJele keâjves kesâ efueS efveoxMe nQ :

(De) START

(ye) DO

(me) RUN

(o) QUIT

The instruction to execute FoxPro program is :

(a) START

(b) DO

(c) RUN

(d) QUIT

(KeC[-ye)

(Section-B)

ØeMve—1. efjòeâ mLeeveeW keâer hetefle& keâjes : 1×5=5

Fill in the blanks :

(i) Dehee&vesš (ARPANET) .............. kesâ j#ee efJeYeeie Éeje efJekeâefmele efkeâÙee ieÙee Lee~

ARPANET is developed by defence department of _______.

(ii) Heâe@keämeØees ceW .............. Dee@hejsšj keâesF& Skeâ ØeefleyebOe melÙe nw Ùee veneR %eele keâjves kesâ efueS

GheÙeesie nesiee~

In FoxPro _______ operator is used to know any one condition is true or not.

(iii) šsueerefJepeve kesâ efmeiveue kesâ mebØes#eCe ceW .............. kesâyeue GheÙeesie neslee nw~

_______ cable is used to communicate signal in television.
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(iv) [sš [ešešeFhe keâe meb«en Deekeâej .............. yeeF&š neslee nw~

_______ bytes are used to store date data type.

(v) .............. ceW meerefcele #es$e kesâ keâchÙetšj vesšJeke&â nesles nQ~

In _______ there are small computer network.

ØeMve—2. Heâe@keämeØees ceW keâewve-keâewve mes mebKÙeelcekeâ Heâeru[ nQ ?  2

What are the number type fields in the FoxPro ?

ØeMve—3. [ešeyesme keâe keâewve-mee cee@[ue peevekeâeefjÙeeW keâes š^er-mš^keäÛej kesâ ™he ceW ØeÙeesie efkeâÙee peelee nw ? 2

Which model of database use the information in the form of tree-structure ?

ØeMve—4. TCP / IP keâe hetCe& ™he efueefKeS~ 2

Write the full form of TCP / IP.

ØeMve—5. Øees«eece HeâeF&ue kesâ efvecee&Ce SJeb mebMeesOeve kesâ efueS keäÙee efveoxMe nw ? 2

What command is used to create and modify the program file ?

ØeMve—6. ef[efpešue efmeiveue keäÙee nw ? 2

What is digital signal ?

ØeMve—7. @...SAY...GET efveoxMe keâes GoenjCe meefnle mecePeeFS~ 3

Explain @...SAY...GET statement with example.

ØeMve—8. efJepegJeue yesefmekeâ cegKÙe eEJe[es kesâ Heâece& eEJe[es SJeb štue yee@keäme keâer GheÙeesefielee yeleeFS~ 3

Explain the use of Form Window and Tool Box in Visual Basic main window.

ØeMve—9. Fbšjvesš kesâ cegKÙe Ú: [escesve keäÙee-keäÙee nQ ? 3

What are the main six domain of internet ?

ØeMve—10. Jeke&â mšsMeve keäÙee nw ? JeCe&ve keâerefpeS~ 3

What is workstation ? Explain it.
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ØeMve—11. RDBMS keäÙee nw ? Fmekeâer efJeMes<eleeSB efueefKeS~ 2+2=4

What is RDBMS ? Write down its features.

DeLeJee / OR

leeefke&âkeâ [sše leLee Yeeweflekeâ [sše keäÙee nw ?

What are logical and physical data ?

ØeMve—12. [eše kesâ jKe-jKeeJe kesâ heejcheefjkeâ ØeCeeueer kesâ keäÙee-keäÙee oes<e Ùee keâefceÙeeB LeeR ? 4

What are the disadvantages or limitation of conventional system to maintain the

data ?

DeLeJee / OR

[ešeyesme kesâ neÙejeefÛe&keâue cee@[ue keâes mecePeeFS~

Explain the hierarchical model of database.

ØeMve—13. efJepegJeue yesefmekeâ cesb Øeespeskeäš keäÙee nw ? Øeespeskeäš kesâ efkeâvneR leerve ØekeâejeW keâe JeCe&ve keâerefpeS~ 1+3=4

What is project in Visual Basic ? Explain any three types of project.

DeLeJee / OR

Heâece& keäÙee nw ? Fmekesâ Øeeshešea efueefKeS~

What is form ? Write down its properties.

ØeMve—14. Fueskeäš^e@efvekeâ cesue kesâ ueeYe efueefKeS~ 4

Write down the benefits of electronic mail ?

DeLeJee / OR

WWW keäÙee nw ? mecePeeFS~

What is WWW ? Explain it.
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ØeMve—15. FOR...ENDFOR efveoxMe keâe GoenjCe meefnle JeCe&ve keâerefpeS~ 5

 Explain FOR...ENDFOR statement with example.

DeLeJee / OR

DO WHILE...ENDDO efveoxMe keâe GoenjCe meefnle JeCe&ve keâerefpeS~

Explain DO WHILE...ENDDO statement with example.

ØeMve—16. 1 mes 50 lekeâ kesâ mece mebKÙeeDeeW SJeb Gvekeâe Ùeesie %eele keâjkesâ eEØeš keâjves kesâ efueS Heâe@keämeØees ceW Øees«eece

efueefKeS~ 5

Write a program in FoxPro to compute sum and print even numbers from 1 to

50.

DeLeJee / OR

HeâejsveneFš keâes mesvšer«es[ ceW yeoueves kesâ efueS HeâekeämeØees ceW Øees«eece efueefKeS~

Write a program in FoxPro to convert Fahrenheit to Centigrade.

ØeMve—17. vesšJeke&â keäÙee nw ? Fmekesâ GösMÙe efueefKeS~ 1+4=5

What is network ? Write down its objective.

DeLeJee / OR

cee@[dÙetuesMeve keäÙee nQ ? Fmekesâ efkeâvneR oes ØekeâejeW keâe JeCe&ve keâerefpeS~

What is modulation ? Explain any of its two types.

ØeMve—18. cesMe šesheesuee@peer keäÙee neslee nw ? Fmekesâ ØekeâejeW keâes meefJemleej jsKeeefÛe$e Éeje mecePeeFS~ 2+2+2=6

What is mesh topology ? Explain its types in detail with diagram.
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DeLeJee / OR

efvecveefueefKele ceW mes efkeâvneR leerve hej mebef#ehle efšhheefCeÙeeB efueefKeS :

(i) eEØeš meJe&j

(ii) meÛe& Fbpeve

(iii) yeeGbme cesue

(iv) keâcÙetefvekesâMeve vesšJeke&â

Write short notes on any three of the following :

(i) Print Server

(ii) Search Engine

(iii) Bounce Mail

(iv) Communication Network

ØeMve—19. keâesSefkeämeÙeue kesâyeue SJeb Dee@efhškeâue HeâeFyej kesâyeue keâes meefJemleej mecePeeFS~ 3+3=6

Explain coaxial cable and optical fiber cable in detail.

DeLeJee / OR

Fbšjvesš keâveskeäš keâjves kesâ TCP / IP keâveskeäMeve SJeb ueerp[ ueeF&ve keâveskeäMeve keâes mecePeeFS~

Explain TCP / IP connection and leased line connection for internet connection.

——


